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Losungsvorschlage

A0l

Losungsvorschlag A01

int 01MyModulo(int a, int b
int remainder

// dein Code

remainder a a/b*b

// Rlckgabe
remainder

oder

int MyModulo(int a, int b

a a/b*b

AO02

Ldsungsvorschlag A02

void int a, int b
System.out.println("Eingabe - a="

int c
c-a
a-b
b=c

System.out.println("Ausgabe - a=

void int a, int b

System.out.println("Eingabe - a=

a

n b=ll b
n b=II b
n b:II b
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b b a

System.out.println("Ausgabe - a="+ a " b="+b

AO3

Losungsvorschlag A03

public double a@3Pyramide(double h, double a) {
double v = 1.0/3.0*h*a*a;
return v;

AO4

Loésungsvorschlag A04

void a04Alterstest(int alter

alter < 7
System.out.println("Nicht geschaftsfahig"
alter < 18

System.out.println("Eingeschrankt geschaftsfahig"

System.out.println("Voll geschaftsfahig"

AO5

Losungsvorschlag A05

String a06gerade (int zahl
int istungerade
istungerade = zahl % 2

istungerade 0
"Zahl " zahl +" ist gerade"
"Zahl "+ zahl +" ist ungerade"
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A0O6

Losungsvorschlag A06 - 1

String a0@6schulnoten (double kommanote
String textnote o

kommanote kommanote

kommanote

textnote “Ungentgend"
kommanote

textnote "Mangelhaft"
kommanote

textnote "Ausreichend"
kommanote

textnote "Befriedigend"
kommanote

textnote “Gut"

textnote "Sehr gut"

textnote

Loésungsvorschlag A0G6 - 2

String a06schulnoten 2 (double kommanote
String textnote o
int ganzenote

// Was passiert hier? Erklare!
ganzenote int kommanote

ganzenote

textnote "Sehr gut”

textnote "Gut"

textnote "Befriedigend"
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textnote "Ausreichend"
textnote "Mangelhaft"
textnote "Ungentgend"
textnote

A8

Losungsvorschlag A8

boolean a®8schaltjahr(int jahr

jahr jahr jahr jahr

true

false

A0

Losungsvorschlag A09

int af9stellenzaehler(int zahl
int stellen
zahl

zahl zahl
stellen
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stellen

A0

Ldsungsvorschlag A0

Lotto

Losungsvorschlag Lotto

void aO5lottozahlen

anzahl
lzahlen

int
int

int 1 i<anzahl
lzahlen|[i]=i

int num_gezogen
num gezogen

int posgezogen int
lzahlen|posgezogen
System.out.println
lzahlen|posgezogen

num_gezogen

int schongezogen
System.out.println

From:
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int[anzahl

Math.random anzahl

lzahlen|posgezogen

posgezogen

“Nochmal... (" schongezogen
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